FeRADILT [FR265E ]
&% &S| S00024 |1$Fﬁ<ﬁﬂftm>|$’RBJ§T'HEQEIT1315§HE3
BREH|E N HESBERFS)
¥ [1RBLA | ARR T T & IR A BESE|  BHREE
BB e e MERS| 11 AFBE
E |01 26 EONBRBE OB, FREHEFSCLE B BITRRR AL
BLI | £ |10 U hE RS,
RE R Bfh s Hhish FEEAEME  |EESWEeR) 178
+ih [Seb@E#E 2001.00 M [FiEE] it E AR - —
BYAH| ZEEBRTE wisws|  HEBaUYY—k-th EoRE - th FORE
13| A& e mzeAn| BH44E 3H258 |munsn 121,010,000
2 |ErmE 918.88 m k] i |mims| IAmER%E
HEBY (EEER) | FH25%9 A | W (EER) | FE
o|PEA|  HiEFE REEY BIERE £ (BA)
B2\ 5t 4
| E &
D[« ~ 15
| 3%
Z=| 0m
0 &
YRY - B REAL X
BE-EE FOMES
BRI .$e. GRS H15%
OB BRI
LIRETNESE
| R 8:30~17:15 KEEH TB-#%A EERE EE
ERMM GEEEROSS) | B | £ A H© | =| £ A H
EBE EEEA| N | £BRE [reBES
@;2 ERIE | NEZLH NEZETT NEEELL Al &&t | 000 A
2 RouREERIER BROEE FEISRIRE
B HEHEEERE 2,712,733 EE-RXERE 0
B SHEIKE 2,712,733 EEEEETH
g | |[RERBEREH XKF&EICED ZOMORE
z B XAFEIZED
£ e XEFEICED @i 0
£ [zotors XEFEIZEL BHRHRA
a| [ HE 0| ¥ |mAsEEA
8 BWE % 0| 5 [EDHURA
FEBBE 0
/Nt 2,712,733 |QFMWMA &5t 0
HH@O+@) @ 2,712,733 M| R—A&HYDIRE 16.15 M
I i EER BEINE) Hzi%fﬁﬁ(ﬁﬁﬂl)
: H24 H25 H26 EFATTRER | BB (%)
% FIT B H 245 246 248 248 100
&
Q
X [Ebmrz AT 50k R 50 R R
DR lmmmc R L,




HEHDKR

it
E X i . g maE
Su| os BT e me | gEm | mmeAs| SO o
=4 EED zaEly  (RRCmmUT) gooni  |mAness sg2sB|  REA T E | 7=
s00025| B-HtE |BEEEL BEEES  |hpoonrom LOm
s00026| EosE |EE HE BECOmedry| 2280n |midswsmE|  FBI | FE | FE
EDZ NI
s00027| HEZ-HEE [HWE MW= %%Emmr%-m 25.93m |m#s4E11H208 PNz = | F=
~ _ |pou—Foay -
s00028| B/ |BEZEES BEHEES ?Fséﬁﬁ-;um&-m 26.64m |mBFI55411H308 N TZE | TZF
LS —k-J0y
s00029| HE-/E |EE H[E %%ngmwg-m 20.18m |MB#n574 3A 28 N TE | T
s00030| BoHtE |TLAR—5—i% S B8 (Ammi) | g goni |gpies 28258 23,360,000 | FE | FE

L2k 1t ORE

-3 b - R R

-3 b B - 3 TR

-3 E B - R R

-3 b B - TR

-3 E B - R R

-3 b B - TR

-3 E B - R R

-3 b B - 3t TR

-3 b B - R R

-3 b B - 3 TR

-3 b B - TR

-3h b B - 3t TR

-3 b B - TR

-3 b B - 3t TR

-3 E B - TR

-3 b B - 3t TR

-3 b B - TR

-3 b B - 3t TR

- b B - R R

-3 b B - 3t TR

-3 b B - TR

-3 b B - 3t TR

- b B - TR

-3 b B - 3t TR

-3 b B - 4t TR

-3 b B - 3t TR

- b - 1 T RS




